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40 GOogd

gbogbuoboouogguoboobou. gguoboboooooouobob.obon
gbbbouoooobobuoboobo,oooobboog.

4.1 0O0OO0OOO

gbbogooogo,bgooog,bbogoooobboooobo,0ogobon
oooo.gooobo,b o40000000.00DO,GOO0O0ODODODOOO
gobooogboboobooobboogon

. 00002000 b0000b00,g00000
2. 000000bboooobobooo

3. f0000000goboOb.bob0oOo,b000b00 fobOobbO fOOOOD
goudboobouboboood

4. GO0000O0O0OO00OOO,000000bO,GOoO0O0O.

o0 ooobz20b00,go0b01ggoooooboobooooooooonooo
O,00400000000000,GO0000.0D00O0,00000Q000DOO0
000 (R+)0004000000000,0000. 10 (Problems 1,700 )0,0
oooooo0oo (0,0,0000)000000 (O,0)0000,00000000
oooogooogobooobob. 0o 320 g0 er0obbO0ObObOobbOOObOOd
gd. gboogobbob,gbogobbbobobbooobbobbobboooboob. bo
gg,gbbobdoogbooboboobbb.

U0 1300 gO00000o0o0oooooboooon

I.G00000000000000 (¢,b) D000, G0O0 «xb00000000O
(0000000oO0ooOO0ooOooOooOooooo)o

II. 00 «x00oobooob. obbbo,00o00 s0dd a, b, cO0000O, O
000000000 (axb)xc=ax(bxc) O

I7II. 00000000 0. 00bb00 GUODOUb0DbD «e0OD0D00O,axe=€exa=a
gbdb ety

IV.GDOODOO «0000,axd =dxa=e00000 deGOOOOO.



74 040 0000

O0I0IvOoOOoOooOoOoo.00oo0ooooooooooooo (p.5n)0,00
00000020 I01IV)000D0O0O000O0O00,000000000000000
O000C0C. 00,00 11I0,00000 (p-bl)DO0O0O0OOODODOODOD.OO,00
g, oo Livooouoo.oboobbo,0obbooooboooobooo,oboobn
O00,IVO e(0000)0 I100000D00ODOO GOOOOO0OODOO.

gd v0. 00DODO0O0OO0OO0 GUOOO,00IVOOOI-IIoooooooooo
goo.

00 «(000000),(c0o00)ooooo00o0oO, 00000 oooo,oooo
goouoboobogbbbouoouooogoon

1. 0000000,0000(00)000000 (0)0000,0000 4d (00
00)0O0O000.00,00 f/0000,000 000000000,

2. 000000000000 (0O,000,00,000)0000,0000 0
(zero), 0 « 0000 ,00000 —«O0O00 (ODO0OO0ODOOODOODOOOO,O
O0o00ooooo,PpO0OO0O).

3. 0000000000 (O0DDO,0000000000)0000,0000000
gboooodd.obdd,exd0000O0OD0D o000, DODOO 1,00,e000
0e¢tOO0O.

gboooobobbuoooboobboobooooobobooo.oobooobobo
gooogo.

gbobogouooobboobboobobuogobbo,obboouoboobboa
gogo.boboob,ugguoboobbdoodog. boooobooobooooaon,
goobogoog,0ogbobobobobooboooboo.oobb,aedO baO, O
goboboboodgbogood.

g 33 guboouoooboog.
1) 0o000ooooobooooo
2)00000000000000O
3)00000000000000
4) 0000000000000 0O0
5)0000000000D0O0O0OOOOO

6) rxy=c+y—10000000000.
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00.1) 000000000000.2) 00 7000000.000,2000
0000000000.3) 00 /000000,00 [7000000.0000
0,0000000000000000000.0000, (6-5)—3#6—(5—3)
400 1,/I]000000000,00000000000000000. 0
00,0000000,000000000000 0000000000000
000000000.5) 400000,00000000000000000
0.000,00000000.000,00 IVvO0000000.00000,
000000000000000000000.6) 0000,0000000
0000.0000000010100000000.0000000 (z,y) O
000,z+y-10000000000,00 /00000.0000000
00000000000, «000000020000 (xy)xz0 ox(yxz)
00000000O0000.00000000

(xxy)xz = (e+y—xz=ax4+y—1+z—-1l=ax+y+2—2,
rx(yxz) = x*x(y+z2—1)=cv+y+z—-1—-1l=a+y+z—2.

00000,00 [I000000.000 e0,000 a+e—1=¢ (200
000)000000000000.000,e=1.00000 7700000
0.000,00 /VO000.00 «00000000,10000 zx2'=1
000000000.00000,2+44'-1=100,2'=2-2000.00
0,00 [VOOO0OO.00000,0070Iv0000000,00 (R *)
ooooo.

ugd 71. 00000 O0O0OO0oO00o0OO00OOO.0D0D0O0ODOOO00O,00101V

ggbooooboouooogooooood
1) obooboobobooboobbon

2) zxy=xy—2r—y+2000000 z>20000000000

4

(1)
(2)
(3) 000000000 2000000 (000200000000)0000
(4 0000000 0000 2000000000
(5)

5) 00 zxy=(r+y)/(l—2y)0000,000000000000O0O00DOOOOO.
gdddoobbobuoooooboouooobooon.

lL.oggoobooobooobobbb. bobo,bo0b IIIobogg ed 100
oogd. 00,0 GO 2000 e,e 00,0000 ceeUOOOO0OOO0OO
goo

ae; = e1a = aey = e2a4 = a

U000 a=e,a=e, 000000, =€e9=co 000000 gno.
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040 0000

.GO00000 ¢, b0000,000 ax=00,000000000.000,az="5

000000 GOO 000 10000000000000. 00,0000 I
0000)0IV(00O0O0O0)0000,00000000000000 «'00
000,r=e¢%000.

U0 72. 000 z«=0000000.00,00000000000000
goo.

gboBbodoubogooboboobod

eJIODODO eeUbUObbODOOD.

ellJ00oubobbooobbubb,0o0bbbooobo10bon
OO0.0opoob10b0,00 ex=00000000000,00100000
ra=b00000000000000.

La€eGOOOO, (e )"=(«")'00000.00000,0000000000,

=eam"= ()" (n>00000,0000000000,00000000
0000000.00000,00000%/0000,

atal = a"t! (4.1)

goodg.

.godooodb,ebbbbObO0OO00oobOobbboboobboo. ooogb

goboggobud,ebbdodbougbugd. e, e"=e0dnnon
00000 n000 (e=e000,00000 10000000 n>00000,
«"#e000,¢000000000000). «000D0O0OODODODOOOOO (O
00)0,«0000000000000O00.

Aaooboogoa,20b0ooggog3sbubooo,uooooubboogo

gggdobb.oggoog,bboboobb,bbogoobboooobao.gb
Ud,d aa---e, D000, 000000000000, 0000000. 000

O N (al(agag))a4 = ((alag)ag)cm = (alag)(a3a4) = al(ag(a3a4)) = al((agag)a4).

oooo0oo,00 (000),00000 (DoO0)oocooooooooo. ooo,

gbbooggooobbbooooooboobbob.

ud 34 0420000, s000000 sO0bDO0bODboO0oO0obooooood. goo,
gogbobob,bbbodgbooobuoboooobbobobobboo.ooood
oo0o0dd 3-switchOOOOODOODO. S-swtchODO OO 6000,0000 3-switch
o,0400fdoooboobooob.ooog, s-switch 00000 OOO0OODOO
godoo.

O00.000000OO0000bO0oooooooooo0O. 2000000 P, P
OO000oooooo, PO0O0ODODO POOOOODOOODDODOODODDOOOO
g.gooo,boob0d0 pO00O0O0DOO0 AOODODODOOO, R,O0000O0



4.1.

gbooobog 77

m/ o/
&'2 =:> f—-z
=z 5

ty hgy o~

! i - /
I—pz -7 2
3 3 3 3

! F4 3 4

O 4.1: 3-switches

10 P,O00000D 3000000,R, 000000 200000.000
00,00000 1000000 20000000000. 00000,00
020000 10,000 30000 30000000000.000000
0 p0000.00000 PRP,=P0000. 00000000000
PP=P0000000O0.

0000, 3swiches 000000000000 (ODO0OO,000000 )0
g

000000, 3switchess I00000000O0000C0.000,00000
000000000000 0000 000000000000000000,
00 I(0000)0000,6=216000000000000000000
0.000,0000,000000000000000000. 000000
00,00 P, PR, P, P, P, P,00000,id, R, R>, R,, R., R, 0 0000
0,000000000000020000000000,0000000 Dy
00000000000.00000, 3switches 0000000000000
D;00000000000000000000000.00000, 3-switches
000000000000O00O000, D, 000000000000000
00000000. 0000, 3switches 000000000000 00O0,
3-switches 10000, 000 (0000, switch P,)0000, 000 swichO
0D0000000000000000.000, 3switchess 1000,0000
ooooO00Oo0oOoCooOoo.

00000000000, 00 {1,2,3'000000 {1,2,3}0010100,00
000000,00000000000000000000



78 040 0000

0o {1,2,---,n}0000,n 00000000000 000 00000, 10
1 2 ...
mQDibnynDinDDDDDD,<, , 7>DDDDD.DDD,DDn
21 Z2 ) Zn
0000,» 000,0000.0000 S,000.
00,00000000000000000,20000000000000000.
100000,00000000000000000000,00 5,0 s,00 s15, 0

bbb s;0os D0OOODODOOOOO0O. OO s30s, 0, 00000 s 00O,
ool sy gugbboooo.gogboog,gobod

1 2 3 12 3y (123
(1 3 2>()<3 2 1)“(2 3 1)'
0o100000000,s 000000,s 00000000.000000,00
DDDD0D 340000 swichDODDOODO.
00000 200000000,00000 s,05 00000000, s,0s, 000
0Oo0D00000000000O0. S,0000,0000000000000000,
0000000000000 0000000000, 000000000000, OO0

g,b0b200bu0bboboooobbobboob,gbobooooboooaag.
goo,b0bogbbbbooud. bogouoobooouooboo.

gd 73. 0oO0o0oOoOoO0O0O0,000,0000000000.000000,00
ugbobz20000000,1000bb4aboobooooon

e 20000 —10000O0O

200000 — 2000000

200000 — 1000000

iogoobo1gbobdud — 1000004

iogoobo1gbobdud — 1000004

100ogoog0 10000b —1000.

goodg,bboobodobo,bbboooobooob1000bboooogg
gd.
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ud 74. A,B0O,1000000,0000,00000 c00DO0ODOOOOO
OodbD. oooo,00o0bD AxpOgoobooooooOo. Ay =1 —a,
A, =1/z00000000000000000 ¢0,0000000000
g.go,00b0oobo0obbboboo,oboog.

00 75. 00000000 BO,BxA,=BxA,=B0000000000.0
00,4 =1-2,4,=1/z000.

4.2 00O

003400000,20000((0000000000)000000O0O00O0OOO0O
g,dgggbdgouobobouooogoouooobbo.obbbobuooooboon
guogubboodgo,bbgdao.

00 140 00 HOOO DDDDD,‘Qthl,gQHhQDDD,gngthhQDD
0000 10 /100 («+000)0O000000,G0 HOODODOOoDOoOoOo. oOg,
gogog, 20000000 onoooooooan.

gbooboboobobooobob,0oooobooGooonno g, 0ooo,
oobobb010100 op:—-=HOUODOOODO, G0 HFOOOOODOOOO. OO
gg,bobobooggoo

©(9192) = ©(g1)9(g2) (for Vg1, g2 € G). (4.2)

00 o0 GO0 HOO1010000000000.

00,000000,000000000000000000.00000,00 20
0D0000000000000000000.000,00,200000000000
0.0000,¢0 GOOD HOOOOOOOODOOOOOOOOO,»'0,HO0O G
00000000000000000. 00, A =o(g),he=p(g) 0000, (4.2)0
0000 o' 0000000000, ¢ ()~ (k) = @ ' (hihe) OO DO.

000,0000000,0000000000000000,0000000000
0000000000000.000,000000000000000000,000
000000000000000000000.0000,0000000,00000
00000000000000000,000000000000000000000.
00 3400,000000000.

00 76. 3-swichess0OODOODOOODOOO DyO00OO0DOO0ODODODOODO, O
goooooooon: id(—)Pl,RQHPQ,RHP?,,Sb(—>P4,SCHP5,
SGHPG.

gowooboooooooooob

OO0 00 AO0bO0o0booo,0bbg o:G—-=HOOOODODDOODOODO.
gob,bdbdgobbodg,gbbboobobobbobogoob.o



80 40 0Oo0odo
gd 77. Ds0O0 D3s00D0O0000OOODOOO.

gboobob,bbbdgbbbboboogobbboooobodgbnbooogn
god.oobggboobobobobboooog.

OO0 78. 0O00O0OOOO (p.900)0000DOCOCOODODODOOOODOOOOO
0,0000000000000000000O0O0O00ODODO. 00,0 (00
00000 )000000000000000O0O0, 00000000000
goboooogoboobooooood

(a1,b1) + (a2, b2) = (a1 + az, by + b2).

OO0 79. 00 7(p.20000000000000000O0OODOOOODO, CgOO
ooboooooboooooooDb.bono,s0,10000000 60°n0O0
googon.

00 80. 0074000000000 OO0OO,00 {0,000,000 30000
Cs0opooboooobooobo.obo2000b0o0,00obogooogn
gooo.

0gd 81. 00O 7400000000000DO,0000 DsO00D00ODODOOO
goo.

goeo, 810dd,ggoooouoggoon
gbooooogbooguogoob.o

00,G0 HOOODOOOOOOOO,q k00000 G, HOOOOOOOO,O
0yp:G>HO ¢(¢")=r"00000000000,000000 (41)00000
000000000000,00000 »000000000000000

e(g"g") = @(g") = " = B*hl = o(g")p(d).

god,gbobogbogbbobagbbb.0obbobo,bbuogoboobbooon
gbod,toggobooobbooobb.

gg,ggdgbbuogoubooboobo,bogbooboobobog,booabn
gbogoogagod.

ugd 15 ggbug,bboouoobobbobod.

gooo,doo ¢,0o0db 1obb n0obbo, b0 nooobbooog,
b n000 1000000000, 00000000000000O00. 000O00O,0
000 D, 000 S;, 000000 (00 34),00000 (007000000 10
00000000000.000,0000000 (DoODO00O0O000O0)DO0OO0OO0O
O0000000000000000000 (p.101)

gob,0opobbooobooooobbm2b0bbboooooobobo.gn
gd,200000bo0oougboobuobao,gbgbbobooboboobod



4.2, 00O 81

gogob.gooo,ggoobo,bbo,bbbouogdggobouboooob,oad
gbg,bbodooooobobboboboobboooo,bo20bd0bibood
gbboggugogobobboog.bub,20bbb0obooooooboboogog
googobooood

1.0000 ooobouoobobooaad.

Ud 82, J0O0O00O0O0O00oOoOooooo,oocooocooooooooo
googo.

2000 boboobobobobboooob.
3.000 Mboooooboobboooaoooo.

00 83. 000OODO0OOOD,000000000000C, Dy, Cs, Dy, Cs,
Ds, -

4.0000 Mobooooood o.000000,000000000000 nd
gbogoboobogobobooob. gobboo,0obboouuooogooo
gbobbogbouobboboboobb.

goddbobobbbbotboboobbouooooboboo.
goboogobodgod,gobboduoo,goobobbouobobbbbbd
00. 00,0 GOOOOOO, o:G - HOODODOOOOD, ee =e 00,
plee) = ple)ple) = p(e) DOD. OO0, p(e)=€¢. 000, 0 HODODDOOOD.
00,¢g000 n0 GOOOOO. 0000 ¢g"=e000. 000, o(g") = ¢(g)" =€
000,h=¢(g) 0000 n00000.0000000000000,¢0000 A
goboooooobooobb.ooo,gb ARODODODOODO.

oood, s 0 D;0000OO0O0O0O, 2, 3,4000000000000. OO 2
gooog,cs0b0od p;000booogo.0og3guugog,cgooooooog,
D; 0 0000000. 0D0400000,Cs 00000, 00 1000 10,00 20
g 1og,00 3000 20,006000 20000.00,DD;00000,0010
gb10,002000 30,00 3000 20000.

0o oo boobL.ooog,bboo
gogdoogboooobo, bbb gobbbooooubbooboboboo. o
ub,tdd14b0gdo,ogbgoboboooboog,ogooooooboooboa.
0,0 AOOODOOOO0OOO,G0 HOODODOOOODOOoooooooooooo
Oo0.0000,¢G0 HOODOOOoooooooo.obooooooooo, GO0 H
ooooobon o:G—-=HOOOOODDODOODOOOO.0DOoooooboboobooo
gooooobooog.

e, 00000 G, HOOOOODOOO,¢(e)=0000000000000O0
00000.000,000000 geG, he HODOOO, ¢(g)=h00000,00
(42)000000000000000,000000 k0000 ¢(¢f)=k 0000
goodggo.



82 040 0000
00 84. 00 ¢(¢*)=r*(k<0)DDODODO.

00000,00 o000 ¢ge 000000000000, 0 ¢g000000O
000000000000000000. 00000,000000 g1,-++,9, €GO
ooooooood,g,---,9, 000000000000 O000000O0000000
0000.00,¢,+++,9.0 GOOODODODOOOODO, ¢(g1) =ha, -+, 0(ga) = hy O,
»00000000000000. 000020 (g0 ¢)000,¢0000000
ooQ

e(gt g -+ gi*gy) = hy*hy - by hs. (4.3)

00000,G0 ¢0 ¢o00000000000,0000 ¢:G—HOODOO
000, o(g1) = hi, o(gs) =h, 0000,000 430000 000 GOOOODO
ooooooobooob.obo, 000000 O AR, DODOOODO0O0O0OO h O
hyO HOOOODO,OOOODDODOOOODOO g1, OO0OO0OOODODOOOODOO.
00,0 ¢0000000000000000000000.0000, @@@=e0
0000,mp=000000000.000,000000000,0000 ¢0O
gogooobooooobobob. oo, oo, 0o ogon
gogogoooouooog.
-1 V3, ]
o0 35 e=— E(e =1000), Fi(z)=ez, h(z)=z000.0000, F,F
goboboobobboboooobooooobo,obobb bybbboobbbo
gooogo.

gd.oboboboabogo

F3(z) = Fi(F(z) = Fi(z) =ez,

Fi(z) = FB(F(2) = FB(2) =z,

Fs(z) = Fi(Fi(2) = Fi(ez) = ez,
Fs(2) = Fy(Fi(2) = Fy(ez) = ez = €%z

000000000000, 000000,000,F, /00000000
00000000,000000000000000.00000,60000
F,--F,0000,00000000000000.00000000000
0000000,000000000.00000,000000000000
O000C0. 00000000 F,0,00 B K 00002, 00 F,F
00003000. F(F(2) = Fz), R(F(z)=F(:)00,0000000
0D00000000.00000000000,GO D,000000000
ooooao.

0000 ¢:G—D;0000000,G00000,200000 F(O0O 3),
F(O00D2)00000000000. D;00000,000 302020000
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00000000.000,0000000000.0000,F <R, F S,
(p.670000000)000.0000,F < S., Fy < id, Fs < R, Fg < S,
000. D, 0000000,000000 GOO0O D,000000000O
0000,0000000

ooooooooboobobo,bobob0 Goooboboboon.

gbbobuoogooubbobo.boo,u0b 20bbboobbuobo
goggoooobobobogobbbo.ob,ggboobooobobobboogn
O000000000.000,00 Fi(z)=ex0 00000 120000000
0,00 Fr(z)=z0,000 (04200 ) 000000000 O0DOO0OOO.

U42:. 00000000000

o000, /KRO000000000000DO0OO0OO0ODOOO,DO00DbOObOOD
O0,000000000.t

gbdggouogbboogbouoobobuobboobogo. obogboon, 200
ggooouaoboobbobogoon.

Ud 8. OO02000000000000000CCOO

000000000000 D0D00000000000.0000000000000000000
gogboobo,booobooobbooboobobbobon.




84 040 0000

(1) (OO 34)3-switches 0 OO D3O
(2)00 760000000000 Ds.

000000000000,000000000000000,000,000000
O0000000.000000,0000000000000000,0000000
000000000000,0000,00000000000000000000. 0
000000000000,0000000000000000000000000C0
0000.00000,0000000000000000000

000000,0000000,00000000000000000000000
00000000000 000000000.000000000000000000,
00000000 00000OoOoDoO.

197000, 00000000 Gelfand 0000000000000 O0000000O0
00000 100,00000000000000000000000.000000,
0000000000000000

OMOOOOO,3000000 Archie, Boss, Wesley 0000 100,000000
0000000.0000000300000000

e Archied

- goobgogoogg.
— uggua,bbbooogooboooad.
- Wesley UOODOOOOOOO.

e Bossl]

- Wesley UOODOODOOODO.
— goob,bogouboooooogo,boobobooooog.
— goobobuoboggooo.

o Wesleld

- goobgogoogg.
— booboooboodoooooo.
— Archie0, 000, 00000000000000.

00obobo0oo,300000boooooo,20b0b000,100000000
O000000.00,00,0000000000000000

000000,000000000000 (000000000, 000000000
O00o00ooooooo)o

000,00000000000000000DO0O0DO. OO,0000000O 30
Ilya Muromets, Dobrynia Nikitich, Alyosha Popovich O OO0 10000000000
O0.0030000000000,0000 300000000
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o I. M.O

— guobgoobbbooon.
— goo,bboboogbooooood.
- AP O0O00O0ODOOOOO.

e D. N.OO

- A pO0000O0D0OO0ODO.
— ggobooobbob,buoubobodobboobbb.
— bDoooooobbooooboobo.

e A. PO

— guobgoobbbooon.

— pooooobobooobbobuogoo.

- LM.O,000,000000000D0DO00O000.
gb3bugboobouogodgg 20bb,1u00b0b0oooobooboogoogn
g.goodg,ggbuogoooogoobooggnn

200000000 0bog,bbooobobuooooao,bgoobubbbood
goobgb.ogdgo,20bgbooooooooog,g,buobogooog

Archie [lya Muromets
Boss Dobrynia Nikitich
Wesley Alyosha Popovich
bag dragon

to steal to kill

to leave the city to go abroad
00D0000DO00,00000000000D00000,00000,600000

gogd20bgggbobobobodgubooboo.ggb,goog,eggbbbod
gbbuogoogbbobodg,bobbo,bb20000b0obo0ooubooboon.
OooobOoboOobbbo0ooobb. bbooooboo,bOob ‘Bess OO
gooo,2000000000000D0.00000,0000000,Bess0DO0
gbood,dgggbobooob.0obogog,onod ‘Dobrynia Nikitich” O 0O 0.
gopoog,oooocgoooooooobobbob.oobo,¢g0 HOoDOooo
oo, o0000d0ooobobuoobbo0 Fooooooooo.
gbbuodgboogobobboboobobb,boobbobbbb.og,bo0boo
N I A
gobooboobooobobobooobboooo.obooboboboon,ep:G—-HO,O
(G,x)00 (Ho)DOODOOOOOODODODOO,O0 «0,0000000000000

g1 %92 = (o(g1) © 9(g2)). (4.4)



86 040 0000

U 43: 0000

000000000000, J. Napier(170000)00000000O00O0O 2000
gbogdgg. oo, bgobbubbobo-0ob-bboobboobog.0b0o0bbd
O logxO000O0,0000000000

Ty = 108718 T2, (4.5)

0000,000000044000000000.000000000000000
0000 lg: (R.,)— (R+)000 (000000000000000000000
00000000000000000). 000002000000000000000

.00 R, 000ODOO0OO010100000.
2.000
log(x125) = log xy + log 5.

googo.
ooooo,00o0o0o0,o0 (Ry,)0O0O (R+)00O0DDOODOOOO.
gd 86. 1.000000 y=loge O Napier 00 y=Algx+B00000000,4500

oooooooo.
2. Napier 000, (Ry,) 00 (R+) 0000000000000 0000 «0000.

gbgeu 20, 000uguooobbbooooboobb.obb,bbobbgb
ggon.

GO AO0D0D0O0D0OO0OOO0,HOODODOODOOOOOOO. 10100 ¢:H—=G
gobobodoboooboooo,oobgo,booo0bg, e GObbOooO0 H
goooboodgbgodgaoo

hi 7 ha = o H(h1) & @(hs)).
0D0oooO0OO0O0O0o0o0oooon

e JJIOIDODOOODODOOODDDOOO (DDO)HO

2].Napier 00 00D000,0000 A, BOOOOOy=Alogz+B0O00. 000000000,
Napier 000 G.BriggsOOOODO. O00,000000000D0DO.
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e 0000,00000 zxy=2c+y—10000000 (00 33).00000,0
0 p(z)=2r-10000,RO0 ROODOOOOOOOO0O0O0OO0O0O0O0O.O
0000, z%y=¢ Ye@) +oy)=@@—-+@y-+1l=z+y—10000
0Qd.

00 71000 x*y:ny 00000000.00 ¢(@)=tanz 0000, 00

0 ((R+)00000C0O0OO0.000,00000101000000.0000,000
gob ymobooboobooooboooobuoboobobbo MmeROOOO,
gobooooodao,bb «sguouooogg.

Ud 87. DO00OO0ODOOO0O0OO

1.go0o00oob MODODD, 00000 oO0ODODOOOD ODOOODOD
2000000000 MO,0D0D00DO0ODOODODObDODDO.

88. .00 y=2000000000000,00000,000000000 0000
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